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SI. No.1
QBID:1555051

Identify the correct preposition for making a meaningful sentence.

The detectives found that the vietim was stabbed the neck.
(1) on

(2) to

(3) in

(4) at

EEEEEILE: BRI RCE
(1) ol

) goid

(3) el

(4) HERT

1[Option ID=31301]

2[Option ID=31302]

3[Option ID=31303]
4[Option ID=31304]

Sl. No.2
QBID:1555052

Identify meaning of the underlined idiom from the options given.

The students were beaten _black & blue by the people of the nearby region because of the protest.
(1) to shout loudly

(2) to beat mereilessly

(3) to curse rudely

(4) to abuse repeatedly

o ST &1 SR Bd 99 Bhgl 9 Marar aTell arg WRa! 9 9801 & 91y Fdd 3 1 ded § 2
(1) I EoH

() Uy e

(3) 39T oo

(4) I oA

1[Option ID=31345]
2[Option ID=31346]
3[Option ID=31347]
4[Option ID=31348]

Sl. No.3
QBID:1555053

Choose the correct option to make a meaningful sentence.

My mother wears sarees but last time when I her, she salwar suit.
(1) saw, was wearing

(2) saw. worn

(3) seeing. is wearing

(4) see, wear




JUIATE & 3ER Wil T IS A @ -

AT
B.FoR
C. 9 d
D. T
E. TUR

S fGu U foee § O 51 SR &1 9094 S
(1) B.A.D.C

2 D.E.B.C

3) EED.A.B

(4) C.A.E.D

1[Option ID=31373]

2[Option ID=31374]

3[Option ID=31375]
4[Option ID=31376]

Sl. No.4
QBID:1555054

Identify the correctly spelt word from the options given below:
(1) Benedicton

(2) Bereavment

(3) Belicose

(4) Blasphemous

il 1% 1Y Gl 11 D1 BT iforg

T T I
(R1=9) (FHTH)
GINEE) RS
Ard-Od [ [SfeEiIE
CEEE 11 [Sgdiie TA"
afdfed [V. [ag 999

1 14U 7T fosedl § 9 961 TR &1 98- HiuIe:
(1) A-IL. B-IV. C-ITI. D-I
(2) A-L B-II. C-IV. D-III
(3) A-IV. B-I. C-III. D-II
(4) A-IL B-IV. C-1. D-IT

=lEeli e

1[Option ID=31377]
2[Option ID=31378]
3[Option ID=31379]
4[Option ID=31380]

Sl. No.5
QBID:1555055

Identify antonym for the underlined word in the sentence.

The child was set free after his parents paid the ransom.
(1) abducted

(2) ransacked

(3) freedom

(4) seized




= 1% 1Y FE 11 DT e Hiforg
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B |=d 1. [facxi 2eg
C. [[dare M1 [dcdH Toi
D. [Of V. [G2of et

i U U [aeedl § O gl 3R &1 904 Sl
(1) A-IIL B-L C-IV, D-II

(2) A-L B-IV. C-II, D-IIT

(3) A-IL B-IIL, C-I, D-IV

(4) A-IV. B-I. C-III, D-II

1[Option ID=31381]

2[Option ID=31382]

3[Option ID=31383]
4[Option ID=31384]

Sl. No.6
QBID:1555056

Tdentify the correct passive voice for the sentence given below :

The thief stole several possessions from the house. Even the fridge has been emptied.

(1) Several possessions were stolen from the house by the thief. Even the fridge he has emptied.
(2) Several possessions were stolen from the house by the thief. Even the fridge was emptied.
(3) Including the fridge. several possessions from the house have been emptied by the thief.

(4) The thief being stolen several possessions from the house, also fridge has been emptied.

19 ¥ ¥ s Wee 9 DI T8 DIT |

A. QY. faug, Y9, BT

B. WY&, g, gfd. i

c. U1, vEy, dfoar, af e

D. Y, ST, HaldHl, gi

E. 316, garsdl, IoHid, 3%

il fdu U fasedi § 3§ 98! SR &1 994 Pifulu:
1) C.E.D.A
(2) B.ALE.C
3) A.C.B.E
@4) C.B.E.A

1[Option ID=31385]
2[Option ID=31386]
3[Option ID=31387]
4[Option ID=31388]

Sl. No.7
QBID:1555057

Identify the correct indirect speech for the sentence given below:
Rajesh said, "Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh".

(1) Rajesh told that Dr. Babasaheb Ambedkar had born in Mhow. Madhya Pradesh.

(2) Rajesh asked that Dr. Babasaheb Ambedkar born in Mhow, Madhya Pradesh.

(3) Rajesh suggested that Dr. Babasaheb Ambedkar is born in Mhow, Madhya Pradesh.
(4) Rajesh said that Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh.




% 7 & we! yataars <sg 99g &1 997 HIfor |

A 5T - GfeTd, gL, AR, ofdol
B. dldld - 9, 94, dlef, dsHl
C. STd - 84, 3R, S, fafuT

D. 360l - 74, TR, yufd, yu
E. aN1 - gIF, S, 91k, a1
e feu T fomenl & 9 96t SR @1 997 S
(1) HITA, C.B.D
(2) HIAC.A.D.E
(3) BAWE, A, D.C
(4) $ATD, C.B.E

1[Option ID=31389]
2[Option ID=31390]
3[Option ID=31391]
4[Option ID=31392]

Sl. No.8
QBID:1555058

Choose the correct order of the paragraph to create a meaning out of PQRS set :
Saussure stressed

P: in a language's structure and maintained

Q : the interaction at any one time of elements

R : in a network of relations

S : that these were interrelated
(1) RSQP
(2) PSRQ
(3) QPSR
(4) SRPQ

fafeiad O g o &
A ﬁg&gm@ﬁt
B.HJRR Wi RHF |
c. H ufaay Reen smarg |
D. GH®! 3191 1d 93ig o1 ¢ |
E. qH A g iR IR U TS & |
9 feu Tt fam el § ¥ 9ad 9ugad STk &1 99 BT
(1) HAAA.B.C
(2) $adB.C.D
(3) HAAB.C.E

(4) FAAA.C.D

1[Option ID=31393]
2[Option ID=31394]
3[Option ID=31395]
4[Option ID=31396]

Sl. No.9
QBID:1555059

Choose the correct sentence.
(1) I hope you will excuse me leaving early.

(2) I hope you will excuse my leaving early.
(3) I hope you will excuse mine leaving early.

(4) I hope you will excuse leaving early.




el 13 |1y Gl 11 BT e Difoy

A1 TR
A [RR 0T S d1eH] W SECEIRED
B. |31 IR 11 [fepeli o ZRIR UR <ol
C. [3TE1 O AT TI1. [gre 5 3T
D.[3= TRI R G@ST8MT [V, [ARA & 7T oOR LT
+d f3u U [ds e ¥ 9 9gl 3R &1 994 BIfI:

(1) A-IL B-IV, C-II, D-1
(2) A-IV. B-III C-II, D-1
(3) A-IL B-III. C-IV, D-1
(4) A-l. B-II. C-IIL. D-IV
1[Option ID=31397]
2[Option ID=31398]

3[Option ID=31399]
4[Option ID=31400]

Sl. No.10
QBID:15550510

Find out which part of the sentence has an error.

(1) With the demand for more working hours.

(2) people are awake till late at night and

(3) indulge in more junk food than home-cooked food.

(4) No Error

= 1% 1Y FE 11 DT e Hiforg

T 1 HI 11
A [S @1 nad 5581 GRS
B. [[ST5H W @ 3981 8l 1 [gay
C. [§ =g PIgTE § M gl il EEI
D. [Sra®T e | (181 N EEIELD
1 fu e fomedl & § W8l IR o1 99 Bif:

(1) A-IL B-IV, C-I. D-II
(2) A-I B-II, C-IIL, D-IV
(3) A-IL B-III. C-IV, D-1
(4) A-IV. B-III C-II, D-1
1[Option ID=31305]
2[Option ID=31306]

3[Option ID=31307]
4[Option ID=31308]

Sl. No.11
QBID:15550511

Who among the following was an Indian American biochemist who shared the 1968 Nobel Prize for Physiology or Medicine with
Marshall W. Nirenberg and Robert W. Holley for research that showed the order of nucleotides in nucleic acids. which carry the genetic
code of the cell and control the cell's synthesis of proteins ?

(1) Visvesvaraya

(2) Meghnad Saha

(3) 5.N. Bose

(4) Har Gobind Khurana

FAREd & 9 SH-91 U YR SERe! oz faqrH! & o e & &3 § 14U &1 arel 1968 & ied [RPR
Soeg vt SR ¢ Sacy Bidt & 1Y ATl febat foriept fawa & Ug aiid © fob gfaiare st H Gfokmdierss ol o, ol i
DITAPI P AP DHE DI a5 DIAI & IR WICH DI DITRDT P HIAYUI DI (40 BT 8 2

) gy
(2) Hy—Te el
(3) TH. 0. 99
(a)




1[Option ID=31309]
2[Option ID=31310]

3[Option ID=31311]
4[Option ID=31312]

Sl. No.12
QBID:15550512

India's first National Sport University is located in which of the following State/Union Territory of India ?

(1) Delhi
(2) Goa
(3) Manipur
(4) Haryana

YR & PR § 8 S H-3 7059 Wied 87 F 1Rd &1 W I8 S faufderay sefa g 2
() fEedt

(2) Tiar

(3) TR

(4) gl

1[Option ID=31313]
2[Option ID=31314]
3[Option ID=31315]
4[Option ID=31316]

Sl. No.13
QBID:15550513

Security Printing and Minting Corporation of India Limited (SPMCIL) has set up two new bank note printing lines which are located in
(1) Nepanagar and Salboni

(2) Dewas and Nepanagar

(3) Salboni and Hoshangabad

(4) Nashik and Dewas

YReig ufaufa gEur ud do A faftres @adiomdiengua) = & 7t 89 Fie fifdr ag=g wifta 31 8 af i W safua g 2
(1) AYFTR 3R Aedl

(2) N AR AR

(3) TesHl 3R SRER

(4) IS SR Ga

1[Option ID=31317]
2[Option ID=31318]
3[Option ID=31319]
4[Option ID=31320]

Sl. No.14
QBID:15550514

Which country is the largest sharcholder of ATIB (Asian Infrastructure Investment Bank) 7
(1) Germany

(2) France

(3) China

(4) India

H I P91 3 U 3T el (URATS AaE=H 39 §&) T Jad g91 SWYRT § 2
) S

(2) Y

() =i

(4) HIRc

1[Option ID=31321]

2[Option ID=31322]

3[Option ID=31323]
4[Option ID=31324]

Sl. No.15
QBID:15550515




Which of the following is TRUE about the Preamble to the Constitution of India ?

(1) 42% Amendment to the Constitution added words Secular and Socialist to the preamble.

(2) B.R. Ambedkar wrote the Preamble of Constitution of India.
(3) The Preamble was added to the Constitution after the enactment of Constitution itself.
(4) The Preamble has been amended twice since the enactment of the Constitution.

YR Ay & Raa-1 & ar § Fafafea d S Fugi s »

(1) 42 § GfayM Iy g1 S § Uy FRUe R IHeae] 9ss &S 71U |
(2) dl. 3R, HASHR 4 URd D AGUH I Ie <l [ed] |

(3) TGy o IRl AU & fUf-am & uyrd |ret T |

4) TefRrep1 § Iiaur & AR 8 P 918 9 3 IR FEieE e |

1[Option ID=31325]
2[Option ID=31326]
3[Option ID=31327]
4[Option ID=31328]

Sl. No.16
QBID:15550516

In a row of girls. Roopa is 7% from the left while Sunita is 12 from the right. On interchanging their respective positions, Roopa
becomes 22™ from the left. How many total number of girls are there in the row ?

(1) 35

(2) 33

(3) 38

(4) 37

Tsiodl 1 Ue dfda § E1 a9 9 7d Gl e 9 12d RIFA W g | 3F1 & 198 § 3101 o718 960 WU a3 220 /A |
TS § | 39 Ui A asfaal @ o e i g

(1) 35
(2) 33
(3) 38
(4) 37

1[Option ID=31329]
2[Option ID=31330]
3[Option ID=31331]
4[Option ID=31332]

Sl. No.17
QBID:15550517

In a row of people Anamika 1s 9™ from the left and Urvashi is 13™ from the right. When they change their positions and then Anamika
becomes 18! from the left. What is the new position of Urvashi from the right end of the row ?

(1) 23

(2) 22

(3) 24

(4) 25

T 1 U Uit | ST a1 ¥ od AR I S T 138 WA R T | o9 3 99 & -H g Al & af e oy ¥ 188 @
R Ao e | IR S I R A T A S e 2

(1) 23
(2) 22
(3) 24
(4) 25
1[Option ID=31333]
2[Option ID=31334]

3[Option ID=31335]
4[Option ID=31336]

Sl. No.18
QBID:15550518

In a row of boys. if Akash is 10" from left and Bimal is 9% from the right. When they interchange their positions. then Akash becomes
15% from the left. How many boys are there in the row ?

(1) 22

(2) 25




(3) 23
(4) 26

TSH! Bl UH UfGd &, MBI T4 T 103 3R [SAT AR Jod WM R T | 5T d 3109 § 30+ o118 960 dd ¢ dl ST a1d F 159
QAR S e | O e § b ass § 2

(1) 22

(2) 25

(3) 23

(4) 26

1[Option ID=31337]
2[Option ID=31338]
3[Option ID=31339]
4[Option ID=31340]

Sl. No.19
QBID:15550519

LK.H. R.F. L N & Q are sitting around a circular table facing the center. H is third to the left of L. who is the immediate right of K. R 1
third to the left of N but not neighbour of H or L. J 1s second to the right of Q. Who is second to the left of N ?

1 Q

(2) Forl

37

4 K

LK.HR.F.L N 3R QU R ¢dd & IRl 3R =5 DI R UG b 48 5 | L b alg AR AN WFRH § | K & 3 aller
%% ING AR IRAM YA RRGAPAIGGHIAIL FTUSRI ol 6 | Q P alle RGN VMW I G | N & Gl gk UH R DI

1 Q

(2) FUIN

3) 7

4 K

1[Option ID=31341]
2[Option ID=31342]

3[Option ID=31343]
4[Option ID=31344]

Sl. No.20
QBID:15550520

A B.C.D.E.F. G and H are players sitting around a round table facing the centre. D is the neighbour of A but not of H. B 1s the
neighbour of F and 4™t the left of D. E is the neighbour of H and 31 to the right of F. C is neither the neighbour of A nor of G.

Which of the following is correct.
(A) B 1s to the immediate left of H.
(B) H 1s to the immediate left of E.
(C) D 1s 4th to the right of F.

(D) H is immediate right of E.
(1) only A and B

(2) only Aand C

(3) onlyBand C

(4) onlyA.BandC

U% 7d ¢§d & °R] 3R A. B, C. D, E. F. G ${R H RG0S &% &1 IR S PP 96 € | D, A DT U5l § AfhI HPIET | B.F Bl
TS g R DS T T WA RE IEHBI TS g IR F S g IR WA RE I CTTNATI IS g ARTAG 1|

AHS RATUBT |
BE®P RAGUHE |
CFHIHIIRFERDE |
D.EF RMAHT |

14 feu Tt fde el § ¥ 9a8 Sugad STk &1 99 BT
(1) Had A R B




) FHagadRc
(3) HaaB AR C
(4) FAAA. B IR C

1[Option ID=31349]
2[Option ID=31350]
3[Option ID=31351]
4[Option ID=31352]

Sl. No.21
QBID:15550521

In a plane, there are 16 non-collinear points. Then the number of straight lines formed is
(1) 24

(2) 30

(3) a0

(4) 120

feret FHTd TR 16 TR-IXE fdg & aa didl s &t e fea- grft 2
(1) 24

(2) 30

(3) 60

(4) 120

1[Option ID=31353]

2[Option ID=31354]

3[Option ID=31355]
4[Option ID=31356]

Sl. No.22
QBID:15550522

A student has to score 30% marks throughout. If he gets 30 marks and fails by 30 marks. then the maximum marks set for the examination
is

(1) 100

(2) 150

(3) 200

(4) 400

feadt faemedf &1 3diivl 819 8 UIdids &1 30% 3id Witd &A1 8| afe 98 30 3% UIdl § o1 98 30 3@ 9 9B 8 oidl &, a9 RI&T &
10 aiftiean fba i RuiRa fea T & |

(1) 100

(2) 150

(3) 200

(4) 400

1[Option ID=31357]

2[Option ID=31358]

3[Option ID=31359]
4[Option ID=31360]

Sl. No.23
QBID:15550523

A man bought 20 cows in ¥ 200000. If the average cost of 12 cows is ¥ 12500. then the average cost of remaining cows will be ?
(1) F 6250
(2) ¥ 6520
(3) 7 6025
(4) 7 6052

P15 ofa 20 TR BT 200000 FUY & WiEd € | IS 12 7T 1 SId Tgd 12500 TIY 1. A A9 7T &7 SH19d Ged &1 g 2
(1) 6250 3T
(2) 6520%4U
(3) 6025 IUY
(4) 6052 FY

1[Option ID=31361]
2[Option ID=31362]
3[Option ID=31363]
4[Option ID=31364]




Sl. No.24
QBID:15550524

A sum at simple interest of 131; 9 per annum amounts to ¥ 3080 in 4 yr. then the sum is

(1) 3000
(2) # 2000
(3) ¥ 1000
(4) 7 2500

PIg YR 13

(1) 3000 T
(2) 2000 ¥YT
(3) 1000 9T
(4) 2500 3T

1[Option ID=31365]
2[Option ID=31366]
3[Option ID=31367]
4[Option ID=31368]

% HIYROT ST &1 &3 F 4 I8 § 3080 BUT &1 9T & | I8 Y=RIT &

1
2

Sl. No.25
QBID:15550525

The system of equation 2y + 4y + 16 =0 and 3x + 6y + 24 =01s
(1) Unique solution
(2) Infinitely many solutions

(3) Inconsistent
(4) Only two solutions

TR0 P IS 2r +4y + 16 =Td 3x + 6y +24=07¢ |

(1) falwga

(2) 33U H 3D g
(3) 3R

(4) FHad algd

1[Option ID=31369]
2[Option ID=31370]

3[Option ID=31371]
4[Option ID=31372]

Sl. No.26
QBID:281635311

Which is a grammatically a correct sentence among the following? Choose the correct answer. BeidepuTe IpaBHIbHEI OTBET/BAPHAHT H3
HIKETAHHEIX IPEITOKEHHAI.

(1) CoMa MHIIET THCBMO MAaTepH.
(2) CoMa IMHIIET OHCBMO K MATEPH.
(3) CoMa IMHIIET THCBMO KO MATCPH.
(4) CoMa MHIIET THCBMO 34 MATCPH.
1[Option ID=36501]

2[Option ID=36502]

3[Option ID=36503]
4[Option ID=36504]

Sl. No.27
QBID:281635312

Which is a grammatically correct sentence among the following? Choose the correct answer. Berdepite npasnIsHEIH OTBET/BAPHAHT H3
HIKETAHHEIX IPEITOKEHHAI.

(1) Hummma 1r00HT cBOETo JedyIIKY H CBOK 0a0yIIKY.
(2) Hummma 1r00HT cBoeH TeOymIke H cBOeH 0a0yIIEE.
(3) Humamwa 1000HT cBOSH TeqymIkoil H 0A0YIIKOM.

(4) Huamva To00HT CcBOH JeIYIIKA H 0A0YIIKA.
1[Option ID=36545]

2[Option ID=36546]

3[Option ID=36547]
4[Option ID=36548]




Sl. No.28
QBID:281635313

Choose the correct indirect speech for the sentence: Ilpenoxasarens copocit Pery: «Brl cacnamm goMamHee 3agaHee?y.
(1) Tlpenonasaters cropocut PeHy, UTo OHA CISIATA TOMAIIHES 3aTaHHE,

(2) Ilpenomasarens cupocii PeHy, 4T0 cIeIaTa OHA JOMAIITHES 3aTaHHE.

(3) IIpenomasartens crpocni PeHY, 4To BEI CAETATH JOMAIIHEE 3aJaHHE,

(4) Ilpenoxasaters cmpocut PeHy. caenana IH OHAa JOMAIIHEES 3aIaHHE.

1[Option ID=36589]

2[Option ID=36590]

3[Option ID=36591]
4[Option ID=36592]

Sl. No.29
QBID:281635314

Choose the correct indirect speech for the sentence: Hagura cupocnna mMeHA: «TEI 4acTo 3aHMMASINBCA B YHTATBHOM 3a1eT»,
(1) HasmTa cpocHia MeHA. 4TO A MACTO 3aHHMAROCEH B UHTATHHOM 3a1e?

(2) Hasmra crpociia MeHA. Kak g UACTO 3aHHMAOCh B UHTAIBHOM 3a1e?

(3) HasmTa cpocumia MeHA. HACTO TH A 3AHHMAKCE B THTATLHOM 3ae.

(4) Hasmta crpocuia MeHA. 4To 4 UacTo 3aHHMAKCE B UHTATBHOM 3a1e”

1[Option ID=36633]

2[Option ID=36634]

3[Option ID=36635]
4[Option ID=36636]

Sl. No.30
QBID:281635315

Choose the correct indirect speech for the sentence: Ham rocts cxazan Ham: «f paccraxy o ropoze Carkt-Iletepoypres.
(1) Ham rocts ckasa, uTo oH pacckaxeT HaM o ropoxe Canxt-IletepOypre.

(2) Ham rocts crasaT HAM, ITO OH pacckaxkeT o ropoge CaHxT-IleTepoypre.

(3) Ham rocTs ckasal HaMM. UTo 1 paccKaxy o ropoge Casxr-Iletepoypre.

(4) Ham rocTs ckasat HaM, 9T0 OH pacekasan o ropoae Cankr-Iletepoypre.

1[Option ID=36677]

2[Option ID=36678]

3[Option ID=36679]
4[Option ID=36680]

Sl. No.31
QBID:281635316

Choose the correct indirect speech for the sentence: Ilpenogasarens cxazan ctyaerTan: «CaylmaiTe MeHA BHHMATESIBHO .
(1) Ilpenonasaters ckasal CTYISHTAM BHHMATEIBHO CIYIIATE €I0.

(2) Ilpemomaearens ckasal CTYISHTAM, YTOOBI OHH CIVINATH €r0 BHHMATEIBHO.

(3) Ilpenomasarens ckasan CTYISHIAM, 9TO OHH CIYIIAIH €[0 BHEMATEIBHO,

(4) TIpenonasaTers cka3al CTYISHTAM. YTOOBI OHH CIYIIAKT €I0 BHUMATETBHO.

1[Option ID=36721]

2[Option ID=36722]

3[Option ID=36723]
4[Option ID=36724]

Sl. No.32
QBID:281635317

Choose the correct indirect speech for the sentence: Moif apyr crasan csoeii cectpe: «[lokaxu MHe, moxxanyiicTa. CBOH TeTpaTmy.
(1) Moit apyr ckasal cBOSH ceCcTIpe IMOKA3ATE CBOH TSTPAIH €MY.

(2) Moit gpyr ckasa’ cBoei cecTpe. UTO OHA MOKA3a7Ia My CBOH TeTpaiH.

(3) Moit gpyr ckasal cBoei cecTpe. YTOOBI OHA IIOKA3a7Ia €My CBOH TeTpaIH.

(4) Moii apyT cKasal cBOSH cecTpe. YTOOHI IIOKA3ATEH EMY CBOH TETpalH.

1[Option ID=36765]

2[Option ID=36766]

3[Option ID=36767]
4[Option ID=36768]

Sl. No.33
QBID:281635318

Choose the correct aspect of the verb to fill in the blank in the following sentence.
Koraa npenonasarens ..... (BXOIHTE-BOHTH) B ayIHTOPHIO, CTYASHTEI ECTAOT.




(1) Bxogur
(2) Bomén
(3) Bxogar
(4) Bommm.
1[Option ID=36793]
2[Option ID=36794]

3[Option ID=36795]
4[Option ID=36796]

Sl. No.34
QBID:281635319
9. Choose the correct aspect /form of the verb to fill in the blank in the following sentence.

Mo# npenogaBaTelbHHNA .... (IPHXOIHTE-IPHHTH) KO MHe B 6 9acoB Beuepa H ... (yxomute-yite) B 10 wacos.
(1) ITpmmma, ymmna

(2) IIpuxommma, yXodmta

(3) IIpuxommmn, yXoIumTH

(4) ITpummm. yormm.

1[Option ID=36797]

2[Option ID=36798]

3[Option ID=36799]
4[Option ID=36800]

Sl. No.35
QBID:2816353110

Choose the correct aspect of the verb to fill in the blank in the following sentence.
MEr ckopo ... (epeesraTh-IIepeeXaTh) B HOBYIO KBApPTHPY.

(1) Ilepeesmasm

(2) Iepeeaem

(3) Ilepeesmy

(4) Ilepeeay.

1[Option ID=36505]

2[Option ID=36506]

3[Option ID=36507]
4[Option ID=36508]

Sl. No.36
QBID:2816353111

Choose the correct aspect of the verb to fill in the blank in the following sentence.

Ecam MBI ... (BEIC3RATBL-BBICXATH) U3 [[eH PAHO YTPOM, MBI CMOKEM .... (Hoe3xaTb-10exXaTh) 10 [lmvst & 10-1 wacant.
(1) BrlesxaeMm, Toexath

(2) Berreemem, moemem

(3) Brlesxems, focenems

(4) Brlexath. T0e3KATE.

1[Option ID=36509]

2[Option ID=36510]

3[Option ID=36511]
4[Option ID=36512]

Sl. No.37
QBID:2816353112

Choose the correct aspect of the verb to fill in the blanks in the following sentence.
.. (AHTATB-TIPOUHTATE ) KHHTY. Koraa # ... (MHTATE-TIPOSHTATE) ¢€, A MOMIET B MATA3HH ....(IOKYIATE-KYIIHTE ) HOBYIO KHHTY.

A gonro ..
(1) Ywmram, UHTAT, MOKYTIATH

(2) UYwmram, mpounTal, IOKYIATE
(3) Ilpoumran. 9uTam;, KyIHTH
(4) UYwmram, OpouHTal, KyIHIE.
1[Option ID=36513]

2[Option ID=36514]

3[Option ID=36515]
4[Option ID=36516]

Sl. No.38
QBID:2816353113
Choose the correct aspect of the verb to fill in the blanks in the following sentence.

q... (}‘IHTB-BB{}"‘IH‘IB) HOBBIC CJI0BA uac. S 3HAM HOBBIS CJI0BA XOpooio, IMOTOMY HTO A ..,(Y‘H/ITB-BE'I}(’TIHTB] HX.

(1) Beryumt, yunn




(2) Yumn, BEIYyUHT
(3) VYuy. BEIyuy
(4) Beryuy. yay

1[Option ID=36517]
2[Option ID=36518]
3[Option ID=36519]
4[Option ID=36520]

Sl. No.39
QBID:2816353114

Choose the correct aspect of the verb to fill in the blanks in the following sentence.

Kasura .... nocyxy nBaguars MuHYT. [locyaa uncTan, moToMy 410 KaBuTa ... e, (MBITB-BBIMBITE)
(1) Boivbina, MbLTa

(2) MgerL1a. BEIMELIA

(3) MoeT, BEIMEITE

(4) Brnuoet, MoeT.

1[Option ID=36521]

2[Option ID=36522]

3[Option ID=36523]
4[Option ID=36524]

Sl. No.40
QBID:2816353115

Choose the correct aspect of the verb to fill in the blanks in the following sentence.
Omo3IaBIIHI MATBUHK .... (CTOATB-IIOCTOATE) ¥ ABEPH KIAcca H ... (IaTh-TION0MIATE) 3SBOHKA.
(1) CToAn, mogoKIaTk

(2) Croan. xgax

(3) ITocToar. momosdan

(4) IlocToAT. HIAaTh.

1[Option ID=36525]

2[Option ID=36526]

3[Option ID=36527]
4[Option ID=36528]

Sl. No.41
QBID:2816353116

Pabdoune erpoat moct. (Choose its correct passive voice):
(1) Mocr cTposaT padoune.

(2) Cr1poAar padodHE MOCT.

(3) MocT cTpoHTCA PADOTHMH.

(4) MocToM cTpoAT padotHe.

1[Option ID=36529]

2[Option ID=36530]

3[Option ID=36531]
4[Option ID=36532]

Sl. No.42
QBID:2816353117

Vporu HaunHaoT B 10 gacor yrpa. (Pick the passive voice):
(1) Vrpom e 10 yacoB HAIHHAIOT YPOKH.

(2) VYporu HaunHatotes B 10 wacos yTpa.

(3) B 10 gacor yTpoM HaUHHAIOT YPOKH.

(4) V1pom B 10 9acoB ypOKH HATHHAIOT.

1[Option ID=36533]

2[Option ID=36534]

3[Option ID=36535]
4[Option ID=36536]

Sl. No.43
QBID:2816353118

Ha stom 3aBoxe npoussonaTes gackl. (Pick the correct active voice):
(1) Yackl IPOH3BONATCA HA 3TOM 3aBOIE.
(2) Yacsl Ha 3TOM 3aBoIe IPOH3BOIATCA.

3) Yacer MIPOH3BOONHIH Ha 3TOM 3aB00<.




(4) Ha 3toum 3agome IPOH3BOOAT YACHL.

1[Option ID=36537]
2[Option ID=36538]
3[Option ID=36539]
4[Option ID=36540]

Sl. No.44
QBID:2816353119

Cronoean orkperra Teneps. (Pick the correct active voice):
(1) Temeps OTKPEITA CTOTOBAA.

(2) Temeps OTKPELTACE CTONOBAA.

(3) CTOnoBasA OTKPHIBACICA TEIEPh.

(4) CTOIOBYH OTKPBLTH TEIEPE.

1[Option ID=36541]

2[Option ID=36542]

3[Option ID=36543]
4[Option ID=36544]

Sl. No.45
QBID:2816353120

310t ropon Oer1 ocHoBaH B 1703 rogy. (Pick the correct active voice):
(1) 270t ropox ocuosanu B 1703 rogy.

(2) 2710t ropox ocxosanea B 1703 romy.

(3) D107 ropox ocxoBal B 1703 roxy.

(4) 70T ropox ocHoBhBaeTeA B 1703 rogy.

1[Option ID=36549]

2[Option ID=36550]

3[Option ID=36551]
4[Option ID=36552]

Sl. No.46
QBID:2816353121

Rewrite the sentence:«fl unraro kHuUTY. KoTopyio Hanucat B. Kykoeckuit.» by replacing the word xoropeni with participle.
(1) A uuraro kuury B.Ayrosckoro.

(2) A unTar KHHTY, HamHcaHHYI0 B.AVKOBCKHM.

(3) A unraro HamHcanHyYIo B.UKYROBCKHM KHTHTY.

(4) A unrtaro HanHcaHHYI KHHTY B.JKyKoBcKoro.

1[Option ID=36553]

2[Option ID=36554]

3[Option ID=36555]
4[Option ID=36556]

Sl. No.47
QBID:2816353122

Rewrite the following sentence using a verbal adverb.
Sentence: Pan UHTaT TeKCT H NEPESBOIHT HE3HAKOMEIE CIIOBA.
Choices:

(1) Ywuras rexct. Pau mepeBodT HE3HAKOMEBIE CIOBA.

(2) YntaB TekeT. Pau mepeBOaHT He3HAKOMBIE CIOBA.

(3) Pawm nepeBoOmT HE3HAKOMEIE CIOBA, UHTAA TSKCT.

4) UnTas He3HAKOMBIE CI0Ba. Pam IIEPEBOIHI TERCT.

1[Option ID=36557]
2[Option ID=36558]
3[Option ID=36559]
4[Option ID=36560]

Sl. No.48
QBID:2816353123

Rewrite the following sentence using a verbal adverb.
Sentence: I'ux pacckassIBAlL O TAHLE H JEIAT KECTEL
Choices:

(1) [Jenad TaHCI, TN PACCKA3EIBAT JKECTHL

(2) PaccraspiBaf 0 TAaHUE, THI JeTaT KECTHL

(3) Korzma rux pacckaseiBas o TaHLE, OH JSIAT KSCTEL

4) I'nzx Tannesat. u JeTall HECThI.




1[Option ID=36561]
2[Option ID=36562]
3[Option ID=36563]
4[Option ID=36564]

Sl. No.49
QBID:2816353124

Rewrite the following sentence using a verbal adverb.
Sentence: Haramra miia kode H cIymmana HOBOCTH MO PATHO.
Choices:

(1) Cuaymaa HoBoeTH no paguo. HaTtama nima xode.

(2) Harama cIymas HOBOCTH 10 PATHO. TIHIA Kode.

(3) Cuaymas panno, Harama nnna kode.

(4) Crmymas HoBoctr, Harama mmma xode.

1[Option ID=36565]
2[Option ID=36566]
3[Option ID=36567]
4[Option ID=36568]

Sl. No.50
QBID:2816353125

25.  Rewrite the following sentence using a verbal adverb.

Sentence: Koraa AHyTE NepeBOIUT NHCBMO, OH CMOTPHT CI0BA B CII0BApe.
Choices:

(1) Ilepepoxs croBa B crioBape, AHYIDK IHITET MHCBMO.

(2) IlepeBoma mucpmo. AHYIK CMOTPHT CIOEA B CIOBApE.

(3) AHYTxX NepeBOIs MHCEMO, CMOTPHT CI0BA B CI0BAPE.

(4) IlepeBoxs mucpmo, AHYIXK CMOTPHT CIOBA B CIOBApE.

1[Option ID=36569]

2[Option ID=36570]

3[Option ID=36571]
4[Option ID=36572]

Sl. No.51
QBID:2816353126

Rewrite the following sentence without a verbal adverb.
Sentence: Bee cMoTpenn Ha MATEIHEA, BECSTO YIBIOAACE.
Choices:

(1) Bee cMoTpenn Beceno Ha MATBINKA H YIBIOANHCE.
(2) Bee Beceno cMOTpenH HA MATBINKA H YIBIOATHCE.
(3) Bee Beceno ynedamics I CMOTPEIH HA MATBIHKA.

4) Bee CMOTpPETIH Ha MaJIbIHEA H BECCIIO }’JBIE}R."IHCB.

1[Option ID=36573]
2[Option ID=36574]
3[Option ID=36575]
4[Option ID=36576]

Sl. No.52
QBID:2816353127

Rewrite the following sentence without a verbal adverb.
Sentence: OHH OLTH, CIIOPA 0 MOCIEIHHX COOBITHAX B PoccHH.
Choices:

(1) OHH ILTH CIIOPHO 0 IOCISIHHX COOBITHAX B PoccHu.

(2) OHH cHOPHTH O MOCTSIHHX COORITHAX B POCCHH, H mImm.
(3) OnHH mITH. B CIOPHIH 0 MOCISTHAX COOBITHAX B Pocenu.

4) OHH ULTH. °H CIIOPH/IH O IMOCIETHHX COOBITHAX B POCCHH.

1[Option ID=36577]
2[Option ID=36578]
3[Option ID=36579]
4[Option ID=36580]

Sl. No.53
QBID:2816353128

Choose the most appropriate translation of the following sentence:

Sentence: Do you like to play football?
Translations:




(1) Tebe mpaentea gyroon?

(2) TsI Tr00HIIE HTPaTh B QyTOO0n?
(3) Ts! urpacms & dytdH0a?

(4) Kax te1 urpaems & ¢ytoon?
1[Option ID=36581]

2[Option ID=36582]

3[Option ID=36583]
4[Option ID=36584]

Sl. No.54
QBID:2816353129

Choose the most appropriate translation:

Sentence: How would you get to the stadium?
Translations:

(1) Kaxofi 1oporofi HaTH Ha cTaInoH?

(2) Kaxk MoxHO JofiTH 10 cTaZHOHA?

(3) Kax 1eI Hoéms Ha cTagmoH?

(4) TsI 3HASImE JOpOry HA cTagHOHT

1[Option ID=36585]

2[Option ID=36586]

3[Option ID=36587]
4[Option ID=36588]

Sl. No.55
QBID:2816353130

Choose the most appropriate translation:

Sentence: He does not have a blackboard.
Translation:

(1) Y Hero HeT u€pHOTO OpPEBHA.

(2) V Hero HeT TOCKH.

(3) VY Hero HeT 4€PHOTO ILTAKATA.

(4) Y Hero HeT OpeBHA.

1[Option ID=36593]
2[Option ID=36594]
3[Option ID=36595]
4[Option ID=36596]

Sl. No.56
QBID:2816353131

Choose the most appropriate translation:

Sentence: No. it was Manisha there. whereas [ was at the stadium.
Translation:

(1) Her. tam oprza MaHHImma. a Ha cTaJHOHE A OBLTA.

(2) Hert. 3to Maguma ObLIa TaM. H 4 OBLTA HA CTATHOHE.

(3) Het. Manuina OBLIa TaM. a4 A OBLTA HA CTAIHOHE.

(4) Hert. 3to Manuma ObIIa TaM. a 4 OBLIA HA CTATHOHE.
1[Option ID=36597]

2[Option ID=36598]

3[Option ID=36599]
4[Option ID=36600]

Sl. No.57
QBID:2816353132

Choose the most appropriate translation of the following sentence:

Sentence: Tell me please. what is the time now?
Translation:
(1) CraskHTe, MOKATYHCTA, CKOIBKO cefidac BpeMeHn?

(2) Kotopeni gac cefinac?
(3) CrakHTe, KaKOE cefuac BpeMA’

(4) TsI He 3HASIIE, KOTOPEIH Yac TENEpPh?




1[Option ID=36601]
2[Option ID=36602]
3[Option ID=36603]
4[Option ID=36604]

Sl. No.58
QBID:2816353133

Choose the most appropriate translation:

Sentence: Vinita does the problems well, and Sunil gets them wrong.
Translation:

(1) Bunwnra pemaert 3agaun xopoiro, a CyHHT HENPABUIBHO.

(2) Bumnra nemaet ynpaxHeHHA Xopomo, a CYHHIT IIIOXO.

(3) Bunmnra oTBeuacT Xopomo, a CYHHT HEIPABHIBHO.

(4) Buznra mumret 3amzaun xopomo, a CyHHI mIo0Xo0.

1[Option ID=36605]

2[Option ID=36606]

3[Option ID=36607]
4[Option ID=36608]

Sl. No.59
QBID:2816353134

Choose the most appropriate translation:

Sentence: On my birthday my friends came to me and presented a dog to me.

Translation:

(1) Korza y MeHA ObLT IeHb POKISHHA, KO MHE IPHIITH MOH Apy3bA H IIOTAPHTH MHE COOAKY.
(2) Ha wmoft 1eHE pOXKASHHA. MOH IPY3bA IPHIILTH KO MHE CO ¢0DAKOIL.

(3) Ha ol 1eHE pOXKASHHA. MOH JIPY3bA IPHIILTH KO MHE IIOJapHTb COOAKY.

(4) Ha ol 1eHb pOKISHHA. MOH APY3bA MOJAPHIH MHE COOAKY.

1[Option ID=36609]
2[Option ID=36610]
3[Option ID=36611]
4[Option ID=36612]

Sl. No.60
QBID:2816353135

Choose the most appropriate translation:

Sentence: My sister resembles my mother, and I resemble my father.
Translation:

(1) Mos cecTpa moxoxka Ha MaMy, a A MOX0% Ha IIAITY.

(2) Cectpa moxoska Ha MaTh, a A Ha OTLA.

(3) Moz cecTpa HOXO0KA HA MaMy. H A IOXO0K Ha IIAITy.

(4) Mos cecTpa moxoka HA MaMy, TOLIa Kak A IOXO0K Ha MAIy.
1[Option ID=36613]

2[Option ID=36614]

3[Option ID=36615]
4[Option ID=36616]

Sl. No.61
QBID:2816353136

Choose the most appropriate translation:

Sentence: The weather was dull day before yesterday.
Translation:

(1) 3aBTpa OyIeT macMypHAf OroJa.

(2) IlosaBuepa cToATA macMypHad IIOTOJA.

(3) CTOHT macMypHas IOroja.

(4) Crosna HeACHAA [IOTOTA.

1[Option ID=36617]

2[Option ID=36618]

3[Option ID=36619]
4[Option ID=36620]

Sl. No.62
QBID:2816353137




Choose the most appropriate translation:

Sentence: Discussions lead to the truth.
Translation:

(1) Coopel BeIyT HA HCTHHY.

(2) Cropsl BEIABIAKT HCTHHY.

(3) B cmopax po:xgacTea HeTHHA.

(4) HcTHHA BBIXOIHT. KOIIA HIYT CIOPEL
1[Option ID=36621]

2[Option ID=36622]

3[Option ID=36623]
4[Option ID=36624]

Sl. No.63
QBID:2816353138

Choose the most appropriate translation:

IIpoBepbTe HepeBOT ¢ PYCCKOTO HA AHLTHICKAN A3bIk. Verify the correct Russian-English translation. Sentence: Tans gasHO 3aMysEeM.
Translation:

(1) Tanya was married long before.

(2) Tanya has been married for a long time.

(3) Tanya married much earlier.

(4) Tanya got married long ago.

1[Option ID=36625]
2[Option ID=36626]
3[Option ID=36627]
4[Option ID=36628]

Sl. No.64
QBID:2816353139

Choose the most appropriate translation:

Sentence: V He# cephle [Ia3a U CBETIEIE BOIOCEL
Translation:

(1) She has light eyes and grey hair.

(2) Her eyes are light and hair grey.

(3) She has grey eves and light hair.

(4) Her eyes are grey and hair black.

1[Option ID=36629]

2[Option ID=36630]

3[Option ID=36631]
4[Option ID=36632]

Sl. No.65
QBID:2816353140

Choose the most appropriate translation:

Sentence: I padoTarw yuuTeneM (QI3UKH, & MOA KEHA IPEIOIAET PYCCKYID THTEPATYPY.
Translation:

(1) Iteach physics but my wife teaches Russian literature.

(2) I work as a teacher of physics and my wife teaches Russian literature.

(3) I am a physics teacher whereas my wife is a teacher of Russian literature.

(4) I am a physics teacher and my wife teaches Russian literature.

1[Option ID=36637]
2[Option ID=36638]
3[Option ID=36639]
4[Option ID=36640]

Sl. No.66
QBID:2816353141

Choose the most appropriate translation:

Sentence: V PamMa KBapTHpA HA TPeThbeM 3TAKE B IeBATHITAXHOM aapTaMeHTe.
Translation:
(1) Ram has a flat on the fourth floor in a ten-storey apartment.




(2) Ram has a flat on the third floor in a nine-storey apartment.

(3) Ram has a flat on the second floor in an eight-storey apartment.
(4) Ram has a flat on the eighth floor in a three-storey apartment.
1[Option ID=36641]

2[Option ID=36642]

3[Option ID=36643]
4[Option ID=36644]

Sl. No.67
QBID:2816353142

Choose the most appropriate translation:

Sentence: MaHuII yeIen IOTOBPHTE ¢ IPYTOM MEPET ero oThe310M B MocKBy.
Translation:

(1) Manish spoke to his friend before departing to Moscow.

(2) Manish spoke to his friend and departed for Moscow.

(3) Manish was able to speak with his friend before his departure to Moscow.
(4) Manish managed to speak to his friend before going to Moscow.

1[Option ID=36645]

2[Option ID=36646]

3[Option ID=36647]
4[Option ID=36648]

Sl. No.68
QBID:2816353143

Choose the most appropriate translation:

Sentence: CerogHa A 0no3Ian HA 00SI M MBI ¢ ceMbEI CelIH 1000eqaTh 0¢3 JBAINATH IIATH TPH.
Translation:

(1) Today I was late for lunch and had it with my family at twenty five to three.

(2) Today I was late and had lunch with my family at twenty five to three.

(3) Today I got late for lunch and sat with my family for lunch at twenty five to three.

(4) Today I came early for lunch and had it with my family at twenty five to three.

1[Option ID=36649]
2[Option ID=36650]
3[Option ID=36651]
4[Option ID=36652]

Sl. No.69
QBID:2816353144

Choose the most appropriate translation:

Sentence: B Mockse 7 yacTo e3:Ky 3MeKTPHIKOH.
Translation:

(1) In Moscow I often go to electric station.

(2) In Moscow I often travel by the electric train.
(3) To Moscow I often travel by electric train.
(4) For Moscow I often take electric train.
1[Option ID=36653]
2[Option ID=36654]

3[Option ID=36655]
4[Option ID=36656]

Sl. No.70
QBID:2816353145

Choose the most appropriate translation:

Sentence: B Yanaurapxe Kak pa3s HAIPOTHB MOEI0 JOMA €CTh MATCHBKOE 03€p0.
Translation:
(1) In Chandigarh just opposite the lake is my house.

(2) In Chandigarh just opposite my house there is a small lake.
(3) Opposite my house in Chandigarh there is a pond.

(4) Opposite the lake in Chandigarh there is a house.

1[Option ID=36657]
2[Option ID=36658]




3[Option ID=36659]
4[Option ID=36660]

Sl. No.71
QBID:2816353146

Choose the most appropriate translation:

Sentence: Moii npodeccop nposxua B HIpKyTeke IATE ¢ MIOTOBHHOM ICT.
Translation;

(1) My professor spent five and a half years in Irkutsk.
(2) My professor lived in Irkutsk five and a half years.
(3) My professor lived four and a half years in Irkutsk.
(4) My professor spent four and a half years i Irkutsk.
1[Option ID=36661]
2[Option ID=36662]

3[Option ID=36663]
4[Option ID=36664]

Sl. No.72
QBID:2816353147

Choose the most appropriate translation:

Sentence: Hu myxa uu mepa!
Translation:

(1) God be with you!
(2) To hell with you!

(3) Good luck!
(4) Neither feather nor wing!

1[Option ID=36665]
2[Option ID=36666]
3[Option ID=36667]
4[Option ID=36668]

Sl. No.73
QBID:2816353148

B paccraze A.C.Ilymxusa « CTAHIIHOHHBI CMOTPHTEIE?
(1) yHa yoexana ¢ opHISpoM IO cBOci J0OPOH Boe,
(2) Odpurrep 3acTaBuI €& NOKHHYTH JOM OTIA.

(3) Orten JIyEu canM paspenin e KHUTh ¢ oHIIEPOM.

(4) [ymHa He MOKHHYTA JOM OTIIA.

1[Option ID=36669]

2[Option ID=36670]

3[Option ID=36671]
4[Option ID=36672]

Sl. No.74
QBID:2816353149

T'1aBnO# TeMoil cTHXoTBOpHOTO moctaHna A.C ITymruHa «f mOMHIO TyIHOS MTHOBEHHEY ABTIASTCA TEMA
(1) Ceobozxnr

(2) Jlro0BH

(3) Boccranma

(4) HsneHBI

1[Option ID=36673]

2[Option ID=36674]

3[Option ID=36675]
4[Option ID=36676]

Sl. No.75
QBID:2816353150

JlranocTs. k Kotopoil A.C IIymKHHE DOCBATHI cBOE NOCTAHHE ] MOMHI UyIHOE MIHOBEHHEY, OBLT PEAIbHBIM UESTIOBEKOM H3 KH3HH.
D10~ .

(1) IIgrp Axosnepna Yaamacs

(2) Apuna PognoxHoBHA

(3) Amnza [letposra Kepn

(4) Mapusa AnexceepHa.




1[Option ID=36681]
2[Option ID=36682]
3[Option ID=36683]
4[Option ID=36684]

Sl. No.76
QBID:2816353151

B cruxorsopennn M.FO . JlepymonTtosa «llapye» H300pasHIHCE CIeIYIOIIHE IPEIMETHI -
(1) Mope 1 coxrme

(2) Jlogwa u MavuTa

3) Ilapyc

(4) Mope, conmue. ToIKa, MadTa. Hapyc.

1[Option ID=36685]

2[Option ID=36686]

3[Option ID=36687]
4[Option ID=36688]

Sl. No.77
QBID:2816353152

B nmomcrax w1ero XoIaT ceMepo MYKHKOB B 3HAMeHHTOM nposuseTeHuH H. Hexpacosa «Kony Ha Pycn #uth Xopomo?s
(1) IlotepaBmerocs MaIbIHEA

(2) CyacTnaHBOIO YESIOBSKA

(3) 3aoayouBIICHCA ISBYIIKH

(4) Cymamenmiero cTapHEa.

1[Option ID=36689]

2[Option ID=36690]

3[Option ID=36691]
4[Option ID=36692]

Sl. No.78
QBID:2816353153

B cruxoteopernn @.TroTueBa «3HMA HeJapoM 3THTCA» HAlLIa OTPaKEHHE TeMa_ .
(1) HacTymaeHMA BeCHBI ¢ YXOIOM 3HMBI

(2) SpocTH NpPHPOIHI ISTOM

(3) Cyposoii pyccroll 3HMBL

(4) IlacmypHOofi moromsl.

1[Option ID=36693]

2[Option ID=36694]

3[Option ID=36695]
4[Option ID=36696]

Sl. No.79
QBID:2816353154

TmaereM mepcoraxeM pacekasa H.B.Toroma «IlIunens» ABmaeTCa
(1) Canycon Bupun

(2) Axaxmii Axaxneend bamvaurny

(3) IMewopmn

(4) Kara

1[Option ID=36697]
2[Option ID=36698]
3[Option ID=36699]
4[Option ID=36700]

Sl. No.80
QBID:2816353155

B paccraze @.M. Joctoereroro «bensie Houny reponna HacTeHbka HakoHe ;
(1) Berpernna ceoero THOOHMMOIO MapHA

(2) ITomooura Meuratens

(3) IlomroOHTIa cTaporo MyXHUHHY
(4) Octamack OnHOH

1[Option ID=36701]

2[Option ID=36702]

3[Option ID=36703]
4[Option ID=36704]

Sl. No.81
QBID:2816353156




B paccrase J.H.Toncroro «Ilocne danay moguépKUBASTCA, 9TO PACCKA3UHK MEPEIyMAT (Pl He KEeHHTHCA ) TOTOMY, UTO OTEIl IeBYIIKH,
THOOMMOM WM. OBLT )

(1) T'enepamom

(2) Meakmy YMHOBHHKOM
(3) Hemazmema renepamom

(4) IlpoTtue HX cBAaIBOHL

1[Option ID=36705]
2[Option ID=36706]
3[Option ID=36707]
4[Option ID=36708]

Sl. No.82
QBID:2816353157

ean Tymtpra Yepsaros 13 pacckaza AILUexosa «CiepTs YHHOBHHEKAY ABIASTCA

(1) IlomoHTeTBHEIM TepoeM

(2) OTpHUATESIBHBIM FEPOEM

(3) PeBOTIOIMOHHEIM IEMOKPATOM
(4) IzeampHBIM XapKIEpOM.
1[Option ID=36709]

2[Option ID=36710]

3[Option ID=36711]
4[Option ID=36712]

Sl. No.83
QBID:2816353158

T'maBnHan reponna apamMsl Anexcarnpa OcTposeroro «I posay ABIASTCA
(1) Karepuna

(2) Hyma

(3) Tarpana

(4) bama

1[Option ID=36713]

2[Option ID=36714]

3[Option ID=36715]
4[Option ID=36716]

Sl. No.84
QBID:2816353159

AgTopoM meecel «CIIeIOH My3bIKAHT» ABIASTCA
(1) B.I Koponenro

(2) AllUYexos

(3) A.OcTpobckuit

(4) Msan Typrenes.

1[Option ID=36717]

2[Option ID=36718]

3[Option ID=36719]
4[Option ID=36720]

Sl. No.85
QBID:2816353160

JKanpoM npoussedeHna Maxkcuma [oppkoro «MaTb» ABIACTCA
(1) Paccras

(2) Pnoc

(3) Poman

(4) ITosma

1[Option ID=36725]

2[Option ID=36726]

3[Option ID=36727]
4[Option ID=36728]

Sl. No.86
QBID:2816353161

B crmxotreopernn C.A Ecennna «lllarass, el Moaly, [llarans asmderca
(1) CpofueHHNEH THPHIECKOTO repod
(2) Pyccroil nepymkoii

(3) Hepyccroii gesymroii




(4) KeHoil THPHYECKOTO Tepod.

1[Option ID=36729]
2[Option ID=36730]
3[Option ID=36731]
4[Option ID=36732]

Sl. No.87
QBID:2816353162

Baammuup Bragmunposna MagkoBekuil AB1AeTCA
(1) Pycermv nmostom 19-oro Bexa

(2) CoBeTCKHM NPOIeTapCKHM IO3TOM

(3) CoBeTcKHM IHCCHISHTOM-IIO3TOM

(4) CoBEeTCKHM TEOPESTHROM

1[Option ID=36733]

2[Option ID=36734]

3[Option ID=36735]
4[Option ID=36736]

Sl. No.88
QBID:2816353163

ITapen Kopuarny ABIA€TCA TEPOSM POMAHA
(1) «PomaeHme deToBEKa»

(2) «Kak 3arkamTaTachk CTATEY

(3) «/KenmesHeIi TOTOKY

(4) «Mgrs.

1[Option ID=36737]

2[Option ID=36738]

3[Option ID=36739]
4[Option ID=36740]

Sl. No.89
QBID:2816353164

IloBecTs. B KOTOPOH COBLTHCE MEUTHI MOIOTOH IeBYIIKH ACCoIb, KOIIa IPHHIT @€ MeuThl - [ pefl NOANIeLT K Oepery MOpA HA CBOEM
KOopadIie ¢ aJbIMH IIAPyCaMH HMEHHO 3a HelO. Ha3hIBAeTCA

(1) «beneer napyc oxuHOKHi», B Karacs

(2) «Amsre [Tapycan, Alpun

(3) «IloBects HenmorameHHOH ayHE, b IInmeHAK
(4) «CnytHHKHY». Bepa ITaxosa.

1[Option ID=36741]

2[Option ID=36742]

3[Option ID=36743]
4[Option ID=36744]

Sl. No.90
QBID:2816353165

AgpTopoM pacckasa «CHer» gB1AeTCA
(1) B. Kartaes

(2) B.Ilumzros

(3) K.IlaycTtoBekmil

(4) E.3amaAtuH.

1[Option ID=36745]

2[Option ID=36746]

3[Option ID=36747]
4[Option ID=36748]

Sl. No.91
QBID:2816353166

Paccras M.ITonoxoea «IlIndankoBo ceMA» MOABTASICA B €T0____ .
(1) Pomane «Twuxuii JoH»

(2) Pomane «lloguATas neamHa»

(3) Coopruxe «/{oHCKHE paccKashl»

(4) Iloeectn «Cyneoa ueIoBSKa».

1[Option ID=36749]

2[Option ID=36750]

3[Option ID=36751]
4[Option ID=36752]




Sl. No.92
QBID:2816353167

Uyank 13 ogHonMeHHOTO pacckasa B.M.IIIykmuHa AB1AeTCA
(1) IIpocToaymHBIM JepeBeHCKHM UeTOBEKOM

(2) Topomckmu mHTeTeM

(3) Bopom u3 gepeprn

(4) Typucton.

1[Option ID=36753]

2[Option ID=36754]

3[Option ID=36755]
4[Option ID=36756]

Sl. No.93
QBID:2816353168

ApTOpoM pacckaza « YPOKH (PPaHIy3CKOTo» ABIACTCH
(1) Banewrtun Kataes

(2) Banenrun Pacoytoa

(3) M.3omeHKO

(4) IOpuit Harnouns.

1[Option ID=36757]

2[Option ID=36758]

3[Option ID=36759]
4[Option ID=36760]

Sl. No.94
QBID:2816353169

Pyccroe onprtopHoe npousseacHue «Borateipu Ha Cokone-Kopadney ABmAeTed mpuMepoM
(1) Pyceroil OBITHHED

(2) Pyccroil caTHPHISCKOH CKA3KH

(3) Pycckoil BommedHOI cKasKH

(4) Pycexroro smoca.

1[Option ID=36761]

2[Option ID=36762]

3[Option ID=36763]
4[Option ID=36764]

Sl. No.95
QBID:2816353170

Cruxoreopenne A C.Ilymxknna «K Haamzaeey»
(1) momHO MOTHEOM THOBH K PomnHe

(2) TOIHO MOTHBOM THOOBH K IHAPCTBOBAHHID

(3) NOIHO MOTHEOM THOBH K POTHOH MaTSpPH

(4) mDOIHO MOTHBOM THOOBH K JTHOOHMOH JEBYIIKE.
1[Option ID=36769]

2[Option ID=36770]

3[Option ID=36771]
4[Option ID=36772]

Sl. No.96
QBID:2816353171

OxHO M3 HIKEIAHHBIX IPEICTABIAST PYCCKYIO KyXHIO:
(1) Komxbaca.

(2) Hamm-Bama.

(3) Canmoca.

(4) Baga-mao.

1[Option ID=36773]

2[Option ID=36774]

3[Option ID=36775]
4[Option ID=36776]

Sl. No.97
QBID:2816353172

Koraa nemo odeHp 00IBIIOH PATOCTH/ ¢BAOBOBI H T.IL/ PYCCKHE TOBOPAT:
(1) Kuépry!
(2) Hu nyxa xu nepa!




(3) Topexro! I'opexo!

(4) Cuactimsoro myTH!

1[Option ID=36777]
2[Option ID=36778]
3[Option ID=36779]
4[Option ID=36780]

Sl. No.98
QBID:2816353173

Ilo cmyuaro KOHYHHEL KAKOIO-TO 3HAKOMOIO UeI0BEKA MOKHO IOCIBIIIATE OT PYCCKHX:
(1) LapcrBHE eMy/eil HeOecHOE!

(2) Haronen x Bory!

(3) OT KOHYHHEI HET CHaceHHA

(4) Cuacueoro myTH!

1[Option ID=36781]
2[Option ID=36782]
3[Option ID=36783]
4[Option ID=36784]

Sl. No.99
QBID:2816353174

OxHO M3 HIDKETAHHBIX ABTASTCA CHMBOIOM PYCCKOH KyIBTYPEL
(1) Turp

(2) Jucwuma

(3) Mexeeas

(4) Boax.

1[Option ID=36785]

2[Option ID=36786]

3[Option ID=36787]
4[Option ID=36788]

Sl. No.100
QBID:2816353175

13 xaxkoil pycckoi HAPOAHOM [ISCEHKH B3ATHL 3TH CTPokH? «PacLBeTatn A0MTOHN H IPyIH, <...>/Brxonnna, necHo 3asoxuia/Ilpo
CTEIHOIo cH30ro opia.’ IIpo Toro, koToporo moonaa/Ilpo Toro. UsH MHCBMA Oeperia.».
(1) «IlycTh Beeraa OyZeT coaHIEY
(2) «KpbL1aThle KadeTHy
(3) «lltHia cuacTea»
(4) «Katroman.
1[Option ID=36789]
2[Option ID=36790]

3[Option ID=36791]
4[Option ID=36792]




